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1 5H KF T0m% 1K B =5
2 108 S 80m% X =4 SHh
3 20064 108 S 70mE 1K 4 SHh
4 118 S 30mE 1K B SHh
5 118 S T0mE 1K 4 SHh
6 20074 128 S 507% £ 4 SHh
7 128 S 507% £ 4 SHh
8 20082 4K KF 80 X B iR (=E
9 108 S 507% £ 4 SHh
10 5H KF 80m% X B =5
11 20094 108 S 607% £ B SHh
12 12H S 607% £ B SHh
13 201248 5H S 70K 4 SHh
14 6H S 70K B SHh
15 20144 128 S 80mk X =4 SHh
16 5R BE T0mE 1K g BEm
17 20154 118 S 70mE 1K 4 SHh
18 118 SH 607% £ B SHh
19 118 S 80m% X =4 SHh
20 118 S 507% £ =4 SHh
21 201648 118 S T0mE 1K =4 SHh
22 118 S T0mE 1K 4 SHh
23 118 S 70mE 1K B SHh
24 18 S 607% £ B SHh
25 6H S 104K B SHh
26 118 S 30mE 1€ B SHh
27 118 S 607% 1€ =4 SHh
28 118 S 80m% X =4 SHh
29 20174 118 S 90m% X 4 SHh
30 118 S 80m% X B SHh
31 118 S 507% £ B SHh
32 118 S T0mE 1K =4 SHh
33 118 S T0m% 1K =4 SHh
34 118 S 80m% X B SHh
35 4K KF 80 X =4 iR (=E
36 108 SHh 607% £ B SHh
37 20184 118 SHh 80m% X =4 SHh
38 118 SHh 607% £ =4 SHh
39 118 SHh T0mE 1K =4 SHh
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40 118 SHh 507% £ B SHh
41 20194F 118 SHh T0m% 1K B SHh
42 118 SHh 70m% 1K =4 SHH
43 118 SHh 90m% X B SHh
44 20204 118 SHh 607% £ B SHh
45 118 SHh 80m% X B SHh
46 9R KF T0m% 1K =4 iR (=E
47 202148 118 SHh 80m% X g SHh
48 118 SHh T0m% X B SHh
49 128 SHh 80m% X B SHh
50 20224 18 BE 80;‘.{%1’? B BEm
51 5H KF T0mE 1K B =5
52 20234 4R KF 90m% X 4 =5
53 20244 118 SHh 80m% X B SHh
54 20254 18 SHh 507% X 4 S
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